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B.Sc./B.C.A./GMT I Semester (NEP) Degree Examination,
March/April - 2022

AECC-2 ENGLISH
BASIC ENGLISH

Time : 3 Hours Maximum Marks : 60

SECTION - A
1. Answer the following questions. Each question carries one mark. 10x1=10
(a) Who is the poet of The Mask’ ?
(b) Mention any two characters from the short story ‘Tar comes’.

(c) Who have seething brains and shaping fantasies in the poem. The Lunatic,
the Lover and the Poet ?

(d) Who is the protagonist of the short story The Child’ ?
(e) Translate to English.

edRmese on.

2] o

(f) Translate to English.

TRWRE LHOITIZ, TOIERY,
(g) What is ‘Data Interpretation ?
(h) Mention any two sources of information.

(i) Use the correct form of verb :

Geetha (Presenting/Presented) a gift to her brother.
G) It (be) (was/were) cold yesterday.
SECTION - B

Answer any four of the following questions, each question carries five Marks.
4x5=20
2. How does Maya Angelou describe the bird and its plights ?

3. Give a character sketch of Gangu.

[ P.T.0.
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Read the following passage and answer the questions.

Washoe, a female Chimpanzee who was the first non-human to learn human
sign language. She was caught in African forest and got trained for ten months
by biologists. Chimpanzees were choosen for this study because they are very
intelligent and social animals. However, there is a disadvantage with chimp is
that it does not possess vocal apparatus that would allow the production of human
speech. Further, as part of a research experiment to teach human language to

animals is supported by biologists Allen and Beatrice Gardener. The Gardeners
were successful in teaching Washoe 350 signs.

(a) What did Washoe learn ?

(b) Where was Washoe caught ?

(c) Who were the Gardneres ? Name them.
(d) What is the disadvantage of chimp ?

(e) ‘She got trained for ten months’. Here she refers to

Translate the following paragraph to English.

500 &)“—aés-'ﬁeéa LRUET TS TEnW. wTD ~303 méa STONT JOTST Bowngh.
tﬁeda:s'fo‘l :i mga a:.—uaaaod:o Dwarm IRozhe e‘)d oSRde Na Se3ID esa’a)"ada.

) cﬂnﬁd 3 B&ITON ATROTSeD aoa:ﬂd él}a'“aFrieno S @umr{%ﬁaﬂa FOODLIeR. am'oaz-rwa
DRTRECD =3 "30511953 d.r*@ruémﬂzﬂeﬁa

Fill in the blanks with appropriate verb forms.

Dear Mom,

I am having a wonderful time. Last night I (go) to the Hollywood Movie,

with some friends. We (take) a special bus and (get) there
easily. A friend (buy) fruits. After the movie we (return)
home happily.

Love, Kris.

Write a note on the power of imagination in the poem “The Lunatic,

the lover and
the poet”.
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SECTION - C

Answer any three of the following questions, each question carries ten marks.
3x10=30

8. Why does William Wordsworth consider ‘Nature to be a good Teacher’ in the poem
“The Tables Turned” ? Explain.

9. Discuss the significance of the title “The Death of a Hero” by Jai Nimbkar critically.

10. Write a detailed report on the following pie charts.

The following pie charts represent the information about students who got
scholarship during 2013-14 and 2014-15 academic years for different courses.
Use the following data to interpret.

Medical =
10% Engineering
Engineering 15%
15%

2013-14 2014-15

11. Translate the following both paragraphs as directed.
(a) Translate : Kannada to English

o TP, T, BEDOW zsgda. RV sgodag mmmged. 33, fcfoln] 22 age%oja 3.
[T, To0W HOZDF& oI BT, DEWIW T, TOFT THO.

(b) Translate : English to Kannada.

Sharma is a worker at a bank. He earns 1,50,000 rupees per year. He saves
60,000 rupees for his daughter’s education. His daughter’s age is 15. She is
an active and talented girl.

(R EmAR - P.T.O._
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12. Do as directed :

(a) Fill in the blanks with correct forms of verbs.

(i) A sheep (is/are) grazing in the field.

(i) My teeth (is/are) healthy.

(iii) They (are/were) in Delhi last year.

(iv) We (have/are) been playing since morning.

(b) Identify Transitive and Intransitive sentences.
(i) I wrote a letter.
(i) He walked in the garden.
(iii) She laughs beautifuly.
(c) Identify the finite and infinite verbs and underline the same.
(i) She worked hard to pass the test.
(ii) The students were asked to submit assignments.

(iii) They fought for freedom.

-00o0-
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B.Sc./B.C.A. I Semester (NEP) Degree Examination, March/April - 2022
HINDI BASIC (AECC)
Paper No. 01 - The Study Of Indian Languages

Time : 3 Hours Maximum Marks : 60
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The Poet Kabir stresses contentment in life only can bring happiness, one
should not accumulate wealth, he should have only as much as to fulfill his
basic needs, this is what he prays to God.
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B.Sc. I Semester (NEP) Degree Examination, March/April - 2022
BOTANY
Microbial Diversity
Time : 3 Hours Maximum Marks : 60

Instructions : (i) Answer all questions.
(i) Draw diagram wherever necessary.

SECTION - A

1. Answer the following Questions. 10x1=10
(a) What are Soridia ?
(b) What is hyphae ?
(c) Name the casual-organism of Citrus Canker.
(d) What is synthetic media ? '
(e) What is pasteurization ?
(f) Expand term SEM.
(g} What are Heterotrophs ?
(h) What are prions ?
(1) What is Lycophilization ?
() What are plasmids ?

SECTION - B
Answer any four of the following. 4x5=20

2. Write a note on nutritional types of microbes.

3. Write the contribution of Leeuenhock in brief.

4. What are Lichens ? Write the Economic Importance of Lichens.
S. Explain the asexual reproduction of penicillium.

6. Describe the ultrastructure of T.M.V with neat labelled diagram.

7 Write the role of Bacteria in nitrogen fixation.

A AR P.T.O.
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SECTION - C

Answer any three of the following. 3x%10=30

8. Write a note on :
(a) Gram’s Staining Technique
(b) SEM and TEM

9. Explain the life cycle of Rhizopus with Schematic representation.

10. Name the casual - organism, symptoms and control measures of Citrus Canker.
11. Explain the cultivation of viruses, vaccination and types.

12. What is culture media ? Explain different types of culture media.

-00o0-
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B.Sc. I Semester (NEP) Degree Examination, March/April - 2022
ZOOLOGY

Cytology, Genetics and Infectious diseases.
Maximum Marks : 60

Time : 03 Hours

Instruction : Answer all the Sections.

SECTION - A

Answer the following sub-questions in one word or one sentence each. 10x1=1C
1. (a) Mention the types of Cell Signalling.

(b) What is incomplete dominance ?
(c) What do you mean by Syndrome ?
(d) In which stage of meiosis synapsis takes place.
(e) Define Co-dominance.
(fi Expand CAMs and ECM.
(g) What is Cytoplasmic inheritance ?
(h) What is Apoptosis ?
(i Define Pathogen.
(j) Define Epistasis.

SECTION - B

4x5=20

Answer any four of the following questions.

2. Write a short note on multiple alleles.
3. Explain briefly about the types and functions of Lysosomes.

4. Explain the ultra structure of a Chromosome with the help of neat labelled diagram.
5. Explain the ultra structure of nucleus and its functions.

6. Explain First law of Mendel with example.

7. Write a short note on Down’s Syndrome and Turner’s Syndrome.

QU P.T.O.
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SECTION - C
Answer any three of the following questions. ' 3x10=30

8. Describe the effects of environment on gene expression.

9. With the help of labelled diagram, explain the Ultra Structure of mitochondria.
Add a note on its functions. '

10. Explain genic balance theory of C.B. Bridges.
11. Explain Watson and Crick model of DNA with a neat labelled diagram.

12. Describe the life cycle and pathogenisity of Wuchararia bancrofti.

-00o0-
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MATHEMATICS
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100990

Paper No. 1 DSC - 1 - Fundamentals of Algebra and Calculus

Maximum Marks : 60

Time : 3 Hours

Instruction : (i) Answer all questions from Section-A.

fii)  Answer any four questions from Section-B.
(iii) Answer any two full questions from Section-C.

SECTION - A

1. Answer the following sub-questions, each sub-questions carries one mark. 10x1=10

(a)

(b)

(c)

(d)

(¢)

(f)

(g)

(h)

(1)

b)

Define Eigen value and Eigen vector of a square matrix.

Find the Rank of the Square Matrix A.

Where, A=

W N
AW N
a h~ow

Find the Angle between radius vector and the tangent for r2=a?.cos26.

Find the radius of curvature of the curve y=4sinx—sin2x at x=

(R

Find the left hand and right hand limits of flx)=|x| As x tends to 0.

State Rolle’s Theorem.
Find the nt derivative of sin3x.

If y=log(x?—4), then find y,.

State Cayley - Hamilton Theorem.

_lim € —e * —=2x
Evaluate : ;5 35 . .

[ ERARRE
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SECTION - B

Answer any four of the following questions, each question carries five marks.4 £
x5=20

1 0 -1
2. Using Cayley - Hamilton’s Theorem find A~lif, A=|1 2 1
2 2 3

3. Show that the pair of Circles Intersect Orthogonally :
r"=a".cosnB, rm=b".sinnb.

4. Verify Lagrange’s Mean Value Theorem for fix)= x*—3x—2 in [—2, 3].
5. If y=sin(m.sin~!x) then prove that, (1~—x2)yn +2—(2n+1) xynﬂ+(mz—u?') Y, =0.

6. Find the evolute of the parabola y?=4ax.

;-l

Find the real values of A, for which the system,
x+2y+3z=Ax

3x+y+2z=\y

2x+3y+z=Az.

have non-zero solutions.

SECTION - C

Answer any three of the following questions, each question carries ten marks.

3x10=30
8. (a) Reduce the Matrix A to its normal form where, 5
2 -2 0 6
4 2 0 2
A=l1 4 0 3l
1 -2 1 2
And hence find the Rank of Matrix.
(b) Verify the following system of equations is consistent. Solve if consistent. 5
x+2y—z=1

3x+8y+2z=28
4x+9y—z=14

(IR AR
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9. (a) Find the angle of intersection of the pair of curves. S
r=sinf +cosb and r=2sinb.
(b)  Derive derivative of Arcs in cartisian form and parametric form. 5

10. (a) State and prove Cauchy’s Mean Value Theorem (Second Mean Value 6

Theorem).
(b) ODbtain expansion of e* as an infinite series (Mac Laurin’s) 4
11. (a) State and prove Leibnitz Theorem. 4
(b) Trace the curve y?(a—x=x3, a>0. 6
12. (a) Show that the pair of curves intersect orthogonally. 6
r=a(l +sinB), r=b(1 —sinb)
(b) Find the Pedal equation (p—r) equation of the curve. 4

r=a(l —cosH)

-00o0-
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B.Sc. I Semester (NEP) Degree Examination, March/April - 2022
CHEMISTRY
Paper No. DSC - 1 : Fundamental of Chemistry
Time : 3 Hours Maximum Marks : 60
SECTION - A

1. Answer the following sub-questions, each sub-question carries one mark. 10x1=10

(a) What is empirical formula ? 1
(b) Define Molarity. 1
(c) State Heisenberg’s uncertainty principle. 1
(d) Give Hund’s rule of maximum multiplicity. 1
(e) What is the influence of hybridization on bond properties ? 1
() What is electromeric effect ? 1
(g7 What are ideal and real gases ? 1
(h) Define parachor. 1
(i) Mention any one indicator used in redox titrations. 1
(j) Give the one advantage of organic reagents over inorganic reagents. 1
SECTION - B
Answer any four of the following questions, each question carries five marks.
4x5=20
2. Explain the importance and scope of Chemistry. 5
3. Write a note on Bohr’s Atomic Model. 5

4. Discuss the strengths of organic acids and bases with factors effecting pK values. 5

5. Write Vander Waal’s equation and discuss it’s application in explaining the 5
behaviour of real gases.

AVATRRER A | P.T.O.
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6.

.-4

10.

11.

12.

2
Explain the factors influencing precipitation in gravimetric analysis. 5
Give the mechanism of ozonolysis of propene. 5
SECTION - C

Answer any three of the following questions, each question carries ten marks.

3x10=30
(a) Discuss the Do’s and Dont’s in Chemistry laboratory. 6
(b) Define Normality and Mole fraction with an example. 4
(a) Describe the shapes of s, p and d orbitals with neat diagram.
(b) Discuss the physical significance of | and 2.
(a) Give the mechanism of E1 and E2 reaction. 6
(b) Explain sp® hybridisation with an example. 4
(a) Define surface tension and write it’s determination by using stalagmometer.
(b) Define Viscosity and write it’s determination by using Ostwald Viscometer. 4
(a) Discuss the titration curves for strong acid vs strong base, weak acid vs 6

strong base.

(b) Explain Mohr’s method for the determination of chloride ion. 4

-00o0-
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B.Sc. I Semester (NEP) Degree Examination, March/April - 2022
PHYSICS (DSC1)
Paper No. 01 - Mechanics and properties of matter

Time : 3 Hours Maximum Marks : 60

Instruction : Answer all the Sections.

SECTION - A
1. Answer the following sub-questions each sub-question carries one mark. 10zx1=10
(a) Define Non-Inertial Frame of Reference.
(b) What is Fitzerald contraction ?
(c) What is Inelastic Collision.
(d) Mention one example for Law of Conservation of Energy.
(e) Mention S.I unit of moment of Inertia.
(fi Define Radius of Gyration.
(g) State Hook’s Law.
(h) Justify why steel is more Elastic than Rubber.
(i) Define Terminal Velocity. _
(j) Define co-efficient of Viscosity of a liquid.

SECTION - B
Answer any four of the following questions, each carry five marks. 4x5=20

2. Show that velocity is variant under Galilian Transformation Equations.
3. Derive the relation between Momentum and Torque.

4. State and prove perpendicular axis theorem.

5. Distinguish between streamline flow and turbulant flow.

6. Derive workdone in ’I‘Wisting a wire.

7. Give the Necessary Theory of Flywheel.

AN RO M ~ P.TO.
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10.

13,

12.

SECTION - C

Answer any three of the following questions, each question carries ten marks.
3x10=30

(a) Derive Einstein’s Energy mass relation. 7+3

(b) Find the rest energy of an electron in Joule and in eV.
Derive loss of K.E of collision of two particles stick together. 10

(a) Deduce expression for moment of inertia of circular disc about an axis passing 7+3
through its centre.

(b) A flywheel of Mass 500 kg and diameter 2 m takes 600 revolutions per minute.
Find the moment of inertia of a Flywheel.

(a) Derive relation between Young’s modulus, Bulk modulus and Rigidity modulus 7+3
of Elasticity.

(b) A metalic rod of length 0.5 m, breadth 0.03 m and thickness 3 mm is clamped
at one end and loaded at other end with 4 kg. Find Young’s modulus if it
depresses through 0.06m and g=9.8 m/s2.

Derive expression for co-efficient of viscosity of a Liquid by Poiseuile’s method. 10

-00o0-
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Question Booklet Code 92 102
B Question Booklet 2 O / il "{ 8

Serial Number

B.C.A./B.Com./B.Sc. I Semester Degree Examination,
March/April - 2022
Ability Enhancement Compulsory Courses (AECC)

COMPUTER SCIENCE
Digital Fluency

Maximum Marks : 30

INSTRUCTIONS TO CANDIDATES

1. The Question Paper will be given in the form of a Question Booklet. There will be four/two
versions of Question Booklets with Question Booklet Code viz. A, B, C&D/A&B.

Time : 1 Hour

2.  The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If
your Question Booklet is un-numbered, please get it replaced by new Question Booklet with

same Code.

3. Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him contains all the 30 questions in serial order. The Question
Booklet does not have unprinted or torn or missing pages and if so he/she should bring it to @
the notice of the Invigilator and get it replaced by a complete booklet with same Code. This is

most important.

A blank sheet of paper is attached to the Question Booklet. This may be used for Rough Work.
Please read carefully all the instructions on the top of the Answer Sheet before marking
your answers.

6. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number using
Black Ball-Point Pen in the OMR Answer Sheet.

7. No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator.

8. Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind
of malpractice in the Examination will result in the disqualification of the candidate.

9.  First fifteen minutes is provided to fill the general information of the Student. Eg. Student
Name, Student ID, etc. in the OMR Answer Sheet

10. Without the instruction of the Invigilator do not open the Question Paper Booklet Seal.
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Which is the first stage in every IoT architecture ?
(A) Sensors and Actuators

(B) Internet gateways and Data Acquisition systems
(C) Edge IT

(D) Data center and cloud

Choose the corrcct example of oral communication.
(A)  Reports (B) Newspapers

(C) Face-to-Face conversation (D) Notes

IoT stands for :

(A) Introduction of Things (B) Internet of Things

(C) Internet of Tracking (D) Interaction of Things

What is the first step to solving a problem ?
(A) Generating alternatives (B) Defining the problem

(C) Selecting alternatives (D) Making a decision

Firewalls are used to protect

(A) Fire attacks (B) Virus attacks

(C) Unauthorised access (D) Data driven attacks

What does the word cloud represent in cloud computing ?
(A) Internet (B) Wireless

(C) Data (D) Disk

92102 2 [N
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7. Which of the following is a type of cyber security ?

(A) Cloud security (B) Network security

(C) Application security (D) All of the above s

8. Which of the following is considered as the unsolicited commercial e-mail ?
(A) Virus (B) Malware

(C) Spam (D) All of the above

9. Which is an open - source Relational Database Management System (RDBMS)
with a client - server model ?

(A) Oracle (B) MySQL

(C) MS-Access (D) None of the above

10. Who is the father of cloud computing ?
(A) Sharon B. Codd (B) Edgar Frank Codd

(C) J.C.R. Licklider (D) Charles Bachman

11. Communication is a non-stop
(A) Paper (B) Process

(C) Programme (D) Plan

12. Machine Learning is a subset of

(A) Deep Learning (B) Artificial Intelligence

(C) Data Learning (D) None of the above

B AN 3 92102
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13.

14,

15.

16.

17.

18.

19.

Which service permits the changes to the IoT services ?

(A) Update (B) Registered service status
(C) Enable from suspension (D) Enable

Mongo DB is a database.

(A) SQL (B) DBMS

(C) No SQL (D) RDBMS

What is key step in Teamwork ?
(A) Leadership (B) Responsibility

(C) Organization (D) All of the above

includes sounds, words, language and speech.
(A) Verbal Communication (B) Non-Verbal Communication
(C) Both of the above (D) None of the above
An example of PaaS is :

(A) Rackspace cloud (B) Mosso

(C) Amazon EC2 (D) G-mail

The word ‘Communication’ has been derived from
(A) Greek (B) Latin

(C) German (D) French

Which of the following is a type of cyber-attack ?
(A) Phishing (B) SQL Injections
(C) Password Attack (D) All of the above

92102 4 AR
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20. Understanding of human needs happens at the stage of :
(A) Testing (B) Prototyping

(C) Empathizing (D) None of the above

21. Al stands for

(A) Aircraft Intelligent (B) Artificial Intelligence

(C) Aerial Intelligence (D) Advanced Internet

22. What is abbreviation of DBMS ?
(A) Data Base Management System
(B) Data Base Mining Source
(C) Data Base Management Schema

(D) Data Base Manipulation Schema

23. Which type of Neural Network is used by Stock Market Indices ?

(A) LSVM (B) NSTM
(C) LSTM (D) ANSI
24. __ is the essential concept related to cloud.
(A) Reliability (B) Abstraction
(C) Productivity (D) None of the above

25. Customer segmentation and differential pricing strategy can be easily achieved

through
(A) Big Data Analytics ~ (B) Web Pages
(C) Browsers | (D) Hardwares
B A ‘ 5 - 92102
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26. Self-driving cars usually use limited memory technology to :
(A) Store Data (B) Automate

(C) Detect Motion (D) None of the above

27. Tt is important to have a good to be successful in your career.
(A) Attitude (B) Clothes

(C) Attendance (D) Shoes

28. shows the process of creating something new.
(A) Innovation (B) Business model
(C) Modeling (D) Creative flexibly

29. Our dress code is an example of communication.
(A) Verbal (B) Non-Verbal

(C) Written (D) Spoken
30. attacks are real threats to IIoT.

(A) Distributed Denial of Service (DDoS)

(B) Worms

(C) Ransomware

(D) Virus
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